
INSTALLATION INSTRUCTION 
116'� GRI�LE GUAfD FOR TOYOTA_SIENNA 2010 

Bl�• ,., tlt�H.SE .:::;l!IIR ITEM NO: BBTY918A .

(, 

OJ t H.OAI) 

C,...,.,AT=-=T�EN'""'T=-I O�N ....... ) )_ l.Please read this installatipn instruction before installing thiE part.
When install it, please pay 1attention to protecting your vehicleE. 

2. When you use it,please check this parts at a fix time-lapse,such as one
I

month or two month.

PARTS LISj) 

No Name Photo Qty RJmarks No Name Photo Qty Remarks 

A Gr i 11 e Guard /' I� 1 
I 

H Lock washer @ Ml:? 

I 6 

·-

B mount bracket! �jD 
lateral I Hex Nut i) 4 Ml� 2 syoketry 

-��
lat/eral T "U"Bol t 

� 
2 

M8X�:5 
mount brack%t2 2 symmetry . __ _, 

'-· . -
·-

D Hex Bolt -'» 2 M12X35 K flat washer (@ 4 M8 

E Hex Bolt -» 2 M12X25 L Lock washer 
@ 4_: M8 

F MIO"'T" Hex Bol 
� 

2 
I 

M12X40 M 
Hex Nut t) 4 M8 

·-
G flat washer (@ 6 

Mlk 

(INSTALLATION STEP� 

' ' 

I '1 
Page l ot 2 



STEP 1:Check the parts in the box carefully if match above parts list . 

STEP 2:Pls prepare the tools for installation, follow as:12-14wrench, 17 

-19wrench.

STEP 3:Put the mount bracket Band the moun bracket C into the girder 

of the car,and tighten it M8
//

U
// 

bolt L. 

STEP 4:Install the grille guard A on the mount bracket B 

,with M12x25 bolt E and then tighten it. 

STEP 5:Test and make sure that the grille guard 1s steadily fixed. 

STEP 6:Installation is finished. 

Page 2 o'f 2 

Change the way you and others look at your truck with Black Horse.  Choose reliable grille guards and bull bars offered on our website.

https://www.carid.com/grill-guards.html
https://www.carid.com/black-horse/



